Cal ... LES TABLES D’ADDITION
B K XK XX )
17+0=1 2+0=2 3+0=3 4+0=4 5+0=5
1+1=2 2+1=3 3+1=4 4+1=5 5+1=6
17+2=3 2+2=4 3+2=5 4+2=6 5+2=7
1+3=4 2+3=5 3+3=6 4+3=7% 5+3=8
1+4=S5 2+4=6 3+4=7 4+4=8 S5+4=9
1+5=6 2+5=7 3+5=8 4+5=9 5+5=10
1+6=7 2+6=8 3+6=9 4+6=10 S5+6=1
1+7=8 2+7=9 3+7Z=170 4+7=1 S5+7=12
7+8=9 2+8=10 3+8=1 4+8=12 5+8=13
17+9=10 2+9=11 3+9=12 4+9=13 5+9=14
1+10=11 | 12+10=12] @3+10=13 ) @4+710=7) (35+10=15)
QO (@__ O (@& D (@ ) (2
6+0=6 7+0=7 8+0=8 9+0=9 70 +0 =10
6+1=7% 7+1=8 8+1=9 9+17=170 100+7=11
6+2=8 Z+2=9 8+2=10 9+2=11 70 +2 =12
6+3=9 7Z+3=10 8+3=11 9+3=12 70 +3=13
6+4=170 7+4=1 8+4=12 9+4=13 10 +4 =14
6+5=171 7+5=12 8+5=13 9+5=14 10+5=175
6+6=12 7+6=13 8+6=14 9+6=15 10+6=16
6+7=13 F+7F=14 8+7=15 9+7=16 70 + 7 =17
6+8=174 7+8=15 8+8=16 9+8=17 710+8=18
6+9=15 Z+9=16 8+9=17 9+9=18 70 +9 =19

(16+10=16 7+10=17)] (3 8+170=18) (F9+10=19 ) (10 +170=20 )
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17+0=17 2+0=2 3+0=3
17+1=2 24+717=3 3+17=4
17+2=3 24+2=4 3+2=5
7+3=4 24+3=5 3+3=6
1+4=5 24+4=6 3+4=7
1+5=6 2+5=7% 3+5=8
1+6=7% 2+6=8 3+6=9
1+7=28 24+7=29 3+7Z=10
17+8=9 2+8=10 3+8=171
17+9=170 2+9=11 3+9=172
17+70=11 | 12+170=12) (Z3+170=13 )
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6+0=6 ZF+0=7 8+0=8 9+0=29 10+0=10
6+1=7% Z7+1=8 8+1=9 9+17=10 100+7=11
6+2=8 F+2=9 &8+2=10 9+2=1 10+2=12
6+3=9 7+3=170 8+3=71 9+3=12 70 +3=13
6+4=170 F+4=11 8+4=12 9+4=13 10 +4 =14
6+5=171 7+5=12 8+5=13 9+5=14 10+5=175
6+6=12 7+6=13 8+6=14 9+6=15 10+6=16
6+7=13 F+F=14 8+ FZ=15 9+7=16 10 +Z=17
6+8=174 7+8=15 8+8=16 9+8=17 710+8=18
6+9=175 7+9=16 8+9=17 9+9=18 70 +9=179

(f6+170=16 3 F+10=17 (L 8+70=18 | (H9+70=179 ) (I710+10=20 )

(D4 +10=14

4+0=4
4+1=5
4+2=6
4+3=7%
4+4=8
4+5=9
4+6=10
4+7=11
4+8=12
4+9=13

5+170=15

5+0=5
5+7=6
5+2=7
5+3=8
S5+4=9
5+5=10
5+6=1
S5+7=172
5+8=13
S+9=1714




